Bronze

Ta. 10 and 40: 3 and 15: 2 and 24

2a. False

30a. 8 14: 18

d4a. Various answers, for example: ¥ and
15(3); 4 and 12 (2); 40 and &0 (10); 15 and
320 (5)

1b. 24

2b. Shaded - multiples of 2; Circles -
multiples of 5

3b. 54 iz the odd one out because it iz not
a multiple of 5.

Silver

5a. & and 34; 8 and 32; ¥ and 27

éa. False

7a.4%:70: 77 84

8a. Various answers, for example: 28 and
63 (7); 81 and 77 (7); 24 and 48 (12); 42
and 54 (&)

4b. 22 or 44
5b. Shaded - multiples of 8; Circles -
multiples of & or 12

4b. 58 is the odd one out because it iz not
a multiple of 4.

Gold

9a. 4 and 78: 8 and 104: 7 and %8

10a. Trve

11a. 79: 117: 12&: 144

12a. $1, 98 (7); 117, 124 (9); 154, 148 (12):
78, 84 (&)



7b. 154

8b. Shaded - multiples of 3: Circles -
multiples of 12

?b. 72 iz the odd one out because it is not
a multiple of 7.

Challenge

1. Look at the numbers below.

3| (4] [s

Which numbers in the grid below are multiples of all the number: above?

Investigate how your answer might change if 5 was swapped with 4, 7, 8 or 7.
Various answers, for example: If é was vsed, 408, 420, 432, 444, 454, 448, 480 and 472
would be circled on the grid.

2. Harriet has these digit cards:

2 3 4 5 6 7 8

Harriet alzo has the list of numbers below and their lowest common multiples (LCM).
She needs to add a digit card to each list so0 that the lowest common multiples remain

vnchanged. Investigate which digit cards she covuld use.
Variows answers, for example:

|

5 3 4 6 LCM =] 60

|

] 3 7 5 LCM =] 210

|

|4 |B IE ] LCM =] 120

e

What is the lowest common multiple of the digit cards Harriet does not use?
The vnused digit cards would be 2, 5, 7 and 8. Their lowest common multiple is 280.



